JENPAS(UG)-2024
PHYSICS
Category.) (Q. 1 to 16) by
(Carry 1 mark each. Only one option is correct. Negative marks: %)

1. When Young's Double Slit Experiment is conducted with White light. coloureq

fringes are obtained on the screen. The ratio of the width of red fringe to the

width of viglet fringe is

(A and A, are wavelengths of red and violet colours respecti\'elﬁ']
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The equivalent resistance between the points P and Q of the network shown in

the figure 1s
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3 o _
" The famous Fermi-Dirac distribution function is given by the following {
!

. where E 18 energy, k is Boltzmann constant and T is

a  EkT 1
2 . ’
temperature. a is a constant. The dimension of ak is l

(A) Dimension less (B) [MLZT'Eﬂ'Il

(C) |MLT-20) (D) [ML2T-20] |
RE) = — _LL_- i 97T w1 FrS T -foars 754 oo | NG E i,

C L "
Eﬂmm—mmat'rmmw | & QT B3 | ak @7 At 79
Q) mra®A [MLAT-201]
(C) [MLT26] (D) [ML2T-2p)

A A

COI‘\E][}E’T a vector 21 - ] - A vector Wh]ch 18 FE[’FE“d]CUIﬂI" Lo thm vector and of
unit Iength will be

Y e 93 oBF 25 - | 9% SR T wferreita ¥ 93 g Brrasa
CsEaft 1@

2.2 2‘; ® Li_2+
/ V5 75 F’“T’
© -zi+x = (D) 7..+_-

2. A parnc]e of mass m falls in a viscous medium where the drag force F on the

_ ]

particle is F = Kv? where K is a constant and v is the velocity. Then JEE has
K

the dimension of
(A) Acceleration (B) Distance (C) Position (D) Velocity

G0 ATE T Ao m S FIF BT INHET 6 F = Kv2 @ K 93t 839

tﬂﬁh-ﬂ%ﬁﬂlw.l’ﬂ;—g @7 w1 sz ceroa i
(A) a9 (B) 7% (C) =™ ’ﬁn @

6. A Pﬂl‘f-icle moves in the x-y plane with velocity components v_ = 4t m/s and
= 2 m/s. If it passes through the point x =10 m and y = 4 m at t = 2 sec, then

the equation of the path is
x-y TG oM GG P91 SRSTTsT7 ST v, = 4t /s 92 v, = 2 /s | T 3

Léammhmnm}mamﬁwﬁwf@mm.m wmmaﬁwqm
(A) x=y? B) x=y?-2 (C) x=y2+2 ) y2=2(x-2)
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7. A system of particles consists of 3 particles eac e of
”ﬂiﬂ'l:-,'. ';1‘ 2}. l'_". d) ““d {:_L G‘] Th(_- coordinntes (]r th{:- {'f_“"t -
S ey A ST oA o wrg wae FNSlE

(3, 6) | Fye s CATITEHA TS 23
(A) (, 2 (2, 4) (C) (4,2)

(1 21, (2, ‘“ L

@) 3.0

efractive index p. The

= - . r r
phar St Broo YeTHGL I et fraction. The angle of

angle of incidence i8 found to be thrice the angle of re
refraction is

ﬂﬁwﬁn'ﬂmmuaﬁsﬁamaﬁwmﬁm'
Wﬂﬁﬂmqa%mqm%mmaﬁmqmmm

w o (f) P ss

g [prl
(C) cos™! [{‘hl] (D) cos {—-—2 1

9. A block of mass M 1s attached to a uniform rope of length L and '1{'
L

w

mass m as shown in figure. If the whole system falls fre.ely under
the gravity, then the tension at the midpeint of the rope will be

( \ m m
(A) {M+%Jg (B) [M-?]g

(C) M+ m)g (D) Zero _
h-imwﬁwmﬁﬂfemwwﬁwwﬁwmq@wm(h

afs) mﬁmamﬁuﬁﬁ#mwﬁmmquﬁa s
qYfE=re o X
(A) (M+-’§—]g (B) [M-%]g (C) M+ m)g ) U -

10. A body of mass m is dropped from a height h = R on t earth surface. The
speed with which the body will collide with earth aurfl}ce 18
(R is the radius of the earth and neglect the effect of air

]
o T T h = R O] (I R e 91 | @ Tt 3 oA
A 298 $AE ©f T6 — {v[ﬁ‘i’lﬁarmﬁlhﬂaawm&wﬁn]

3
(A) 2R * f JeR © 2488 D) 2eR

—
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e —
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e
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1 Which of the following figures shows the variation of thermal strain (€)
Produced in a rod with change in temperature (A0) ?
e @ el 9T ATCA GINRR afedea (A0) e ow Rgfer ()
“tréa vt @ ?
™~ o~
€ €
(A) T (B) T
£ g‘
© 1 ) 1
0 S Aé 0 — QE
12.
P-V diagram for one mole of hydrogen gas for a certain process 1 — 2 is shown
in the figure. The amount of heat supplied to the gas during the process is
93 " ofeam 1 - 2 9 o gRESE UeR PV Eritaf Bm oo
TR | 9% AU ST SRS ST ofame 28
(A) 4PV, (B) 32PV, » (C) SPUVO ) 43Pu\r
W — srs T
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13.

14.
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A E=10V
lmttE'l‘y of emf 10 V and Interna) resistance 1 Q is connected to an jgey

and a 4 Q resistor as shown in the figure. The reading of the
""'Uitm eter 18

mvsﬁsqmmmnwmﬁqmmqﬁmﬁﬁwmﬁmﬁﬁﬁ@mmn
T A g w1 %01 (B o) | corofiti «1s 2

(A) ov (B) 2V
©) 15V / 10V
x

x

X

X

% X x X

A circular loop of radius 10 cm is placed in a magnetic field of 1 Tesla in such a
way that the area vector of the loop is in the direction of the magnetic field.
The loop is now rotated by 90° in 0.01 sec about its diameter as shown in the
figure. The magnitude of emf induced in the loop is (in volt)
(A) nx 104 )

2

(C) Y (D) Zero

10 cmwéaqw%maqm%smmﬂwqwmmmqmqm
CFA (ST BT (BT SRS A | B 0.01 secd ©TF JTOTE ST 90°
CRICT (TATCAT 247 | (15t 3ffs) 1 oeet onfad cfSesters W 714 51 (volt qa)

(A) nx10* ) @
(C) ﬁ (D) T
2 ——
______ — — — '_'_"'—'—--_—T#T——.-—._—.
JENPAS (UG) Paper- | 7 ﬁi &



15, Which of the followin ™

mirror for Cartesian sign conve

ntion ?

graphs is the correct graph for a

L qam — rerafoa ?
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PHYSICS

Category.a (Q. 16 to 20)

Marks ecach. One or more options are correct. NO negative marks)

(Carry 2

lﬁ_ Th[\ " . - ) . . = - .-'r a
Wavelengths of K, Ky and L chyracteristic X-ray lines are 2q. % and 5.,

feSpectively. Then which of the following is/are correct ?
afw hﬂ, Kﬂ 932 L, ?ﬂﬁa{‘f‘ﬁ X-afy Gy GABAY] WATHG 9 g3z 7., N S
Fisg IR (mafen) H#fdw ?

/ﬂ Ay> A, > 1, /un _’—~}i+-;1—=u+
.h] w0 f.:'!

© y>a,>2,, (D) xy= kg

17. If two liquids of specific gravities S, and S, (S, > S,) are mixed to form a

mixture of specific gravity S then which of the following statement(s) is/are
correct ?

(4) §,<8<8s,

/ 2S = S + S, 1f two liquids are mixed in equal volumes.
4 53

2
-§=s—- < If two liquids are mixed in equal masses.
1

{D) =2—+—
s=5+2)

5, 9GRS, (S, > §,) Wi gFTe 5t Sees Afm S wifire swrey it fer
mwmuﬁmm@f@ﬁ;@%ﬁw*

(A) 8,<S<8S,]
(B) 285=8,+8,, 744 sm-smret ©aa SO rmen zn |

2 1 1
€) Z=—+—, T4 M-S GF TV PN 3 |
E 8 8,
1 1 1
D) =2t sl
'3 [sl"b.J'
e e e . e e —_—— T _'_-_'""_'_—'—'--—.'N ——————
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-~ ; e
1q and +q are placed at 4 distance 1. apart A thard cktm r”‘
| | ced i | ) | | 1] Wl [ZA L L L]
T P plnce n the line joining them go that the entire system b
1o be placed 1
q, 15 1 o
Lbrium. Then wlhid

cquild lIve.
at be negal
(A) q, must b n

2 e 4
2 1 distance — 4q.
ust be located at ¢ 5~ from 4q

low] - 9
h of the following statement(s) is/are true :

{nl qﬁ m

(C) for equilibrium, q, = = qQ.

: ilibrium is not possible for any value of q_ .
(D) equilibrium 18 no 3
55 R &Y + 4q 932 +q, L G SRS | qaf @& o g, F @ 5% S
SermreTsl (@R S1F QEASIE AT 391 310 s Fewis AIRER A0S | Graee

fimse o S/ Siwafa e 2
2

/.Iqmcwqu@? 407 IS 319 |

4
(C) IR & q, = - =q.

(D) q, SR (17 WIAA SR A 7S 77 |o

19. Sound wave of fundamental frequency (f) is produced by vibrating air column
in a closed organ pipe. Which of the following statement(s) is/are correct ?

(A)  fwill increase if the radius of the pipe is increased.
(B) fwill increase if the temp. of the air in the pipe is increased.

(C) f will remain same if the pressure of the air in the pipe is increased
without change in temperature.

(D) fwill decrease if the molecular mass of the air in the pipe is increased.

ﬁ-ﬁﬁmsﬁamwﬁamwﬁmmm{ﬁm AL
w1 @ | TsE e SR / SRef s 0
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€ RV, is the input voltage, Vi ang y
*€Presepy ., R '
At voltages across Rp, and R Fespectively,

hen, Which of the following Slﬂlﬂmem{s} b

are true ?
v
('--—.n__,
T AAAAA

R=1kn 73
f o= o HL >
Vi =16Y 1.-1‘ =12 kﬂ%Ivl.

=10y *

(A) Voltage across zener diode is 8,73 v

(B) VL:an_ ‘
©) Vp=1797v.
@) L=0..

z

WWWMW,MRWWGNRLMW}W@@

aaavLevammR],anR-wﬁamm|mﬁcﬁm
i/ Sfwafir e 2

R %
_ —, e v
V=16V == VI/K’ =1.2k0 I L

(B) V>V
ﬁvl{=?27v
1. =0
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CHEMISTRY
Category-1(Q, 21 (o 35)

(Carry 1 mark each Only one option jg correct. Negative marks: -'4)

21. The correct order of the rate of acid-catalysed dehydration of the given

isomeric alcohols 18 :

et ) SIS ST By e e s1ion 3% w227

My X,

OH
I 11 11

/J I<II<Ul  (B) HI<II<I (c) mi<i<Il (D) I<ni<II

22. The group isopentyl is :

SReTCroRe oS xer :
(A) CH,~CH,~CH,~CH,~CH,- ) CHy- CH-CHy-CHy:
CH,
s o
(C) CHy~CH,~CH-CH,- ®) HC-O- CHy
CH,

23. The order of boiling points of the following compounds are :

e Ans1afr goarced w9 28 :

OH OH
I

l
II I11
: CH,

A 1>11>111 @) n>I>11 (€ M>II>1I @y MI=I>1 ,

et . ., P R, N P S s e el g

| — =z
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24.

25.

TENPAS(1G)-2024
Many jsomers may be CoONsidered with molecular formula C

C4HyBr wiofys 5o e vsof SREma 520 7

How H.Br

4) 4 (B) 5° ©) 6 (D) 7

Which is not the proper reagent for the conversion of glucose to gluconit acid ?
() Bri!' H,0 (B) Tollens' reagent

(C)  Fehling's solution (D) HNO,

FIHG grams e gre SIRG Fetregrg oy #fe faas 79 2

/ Bry, H,0 (B) Tollens reagent

27.

—— —

(C)  Fehling's solution (D) HNO,

Which of the following diagram correctly describes the change of surface
tension against concentration for a miceller solution ?

fba @ Graftafd wReRT ST WA A7 PEeR Féaferer AT SR a4
IR ?

v v
(A) %1/ Y
| CMC | CMC
Conc. Conc.
v v
(C) - (D) :\
; CMC yCMC
Conc. Conc.

For the reaction 2A + B == 2C, AG® (500 K) = 2 kd/mole. Find the equilibrium

constant for the reaction A + %B =C
1 L]
9A + B —= 2C Rifteura AG® @7 ¥ 500 K @rtram 2 kd/mole | A + EB‘_"_‘(

fFara sy #3993 9+

(A) 0.950 (3 0.786 (C) 0.565 (D) 0.0786

o — T ——— s S —" — " S — —— — — ——
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28. An electron moves in an electric field wip, K.E. 2.6 eV. What is the associated

; 9
de Broglie wave length ’

@3t el ofeerwid TR 2.5 eV | RGARAf0a de Broglie SRR M 7S ?

/(7_75 A (B) 7.50 A ©) 7.95 A D) 7.40 A

29. For the isothermal reversible expansion of an ideal gas , which is correct ?

(A) AH>0and Au=0 (B) AH>0and Au<0
(C) AH=0and Au=0 (D) AH=0and Au>0
W SR NI (ARG HRAHIITT QTG 7 2

(A) AH>0432Au=0 (B) AH>043eau<0"

f:’xf'{=0tﬂa=&u=0 (D) AH=04932 Au>0

30. At room temperature HClis a gas while HF is a liquid because -
(A) of a strong bond between H and F in HF
(B) HF is less acidic as compared to HC!
(C) HCl is less acidic as compared to HF
Z® (D) of strong intermolecular H-bonding in HF
T ATSI4% SIemam HC! syt e HF w3 389 —

% (A) H S F 97 7oy e amm
“  (B) HCI 97 torst HF 3w oy
= (C) HF 97 srorsst HC! 3% o1iEs

'@ﬂ«/ HF « et erssenaf zidmgnes 3 Sfifs

31. Which one of the following species is not isoelectronic with CO ?

CO 97 AN @HC SERERETIT 50 -
(A) N, (B) CN- (C) NO*

’ A TR —_— —_——————

JENPAS (UG) Paper- 1 14
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32. The correct order of acidic chnraeye, o "

LS Sﬁl‘m *-ﬂiE«. i == ~ 2

e,
» ‘.

(A) 'uzo ~ \igl > ‘mU > P, Om B) PO,

%]540 > 810, > Al, U > M&O (D) 8i0, > POy

33. The common oxidation state of the eclements of lanthanide series 18

> A0y 7 Mg > Si10,
> ALO, 7 MgO

AEFEG @rfig GNER YA ST Heyp 5o
(&) +1 +3 €) +4 (D) +6
14
J.
34. Select the incoyfect statement : ‘Eﬂ'g u.:"r@
@,’)3 A

(A) Cu(l) is diamagnetic while Cu(ll) is paramagnetic
(B) lTi([—I;_,,O)G]3+ is coloured while [Se(H,0)g)3" is colourless.

(C) Ionisation energies of 5d-elements are greater than those of 3d and 4d

elements.

Transition elements cannot form complexes
fqfeft sifow a 2
(A) Cu(l) 7 Roarsre® €az Cu(ll) T *RIgadn
(B) [Ti(H,0),)%* %1 afea @ [Sc(H,0))** 3R
(C) 3d 932 4d TNA ST 5d O SRR =i @t
(D) #AfHsTe aNer wifber NSt 157 FATS A A1

35. The correct valence shell electronic configuration of the element with atomic

number 22 1s

@19 GNTETa AANATE F21 22 Xre1 G ST CIeETa A3 Reada Ry 5=

[Ar] 4523d*>  (B) [Ar] 3d* (C) [Ar] 8d%4s® (D) [Ar] 4s%4p?

— — —— ——— — ————
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Category-2 (Q. 3¢ to 40)

{(‘urr_\,- 2 marks each. One or more Optiong are correct, No negative marks)

36. Among the following, the extensive vuriumuﬁ are

(A) H (Enthalpy) (B) p (Density)
(C) E (Internal energy) Dy v (Volume)
FafaRres a0y 110 Swemers of

ﬁ‘l {Lﬂ?iﬁ]lﬁliﬁ) {B) p (W .

/“h E (Sre:-1) / V (mre) ¢

37. Which of the fullnwing reagents can convert benzene to benzaldehyde 2

(A) CH,4CN, HC! gas, anhydrous ZnCl,
(B)  CO, HC! gas, anhydrous AlCl,

0
I
(C) H-C-0C,H,

(D) (@) Fe/Br, (ii) Mg/Ether (iii) HC(OC,H,), (iv) H*/H,0
e con Remeaft cfeiTes carfeais semsfis wics e 2
(A)  CH4CN, HCI sy, S@Td ZnCl,

CO, HCI sy, e AlCH,

i
(C) H-C-O0C,H,

(D) () Fe/Br, (i) Mg/AY@ (iii) HC(OC,Hy), (iv) H/H,0

e e e

L
JENPAS (UG) Paper- | 16 @ @
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(=

The above Convergjon can be carried out by which of the fol

AT 17 Rt s @efranes wef@AG SOICAT 0 2

A O €l H,0 HOC. (i) Base (OH)
i
() H,0,/0H- ,

(D) Peroxybenzoic acid -

]
. (8) -
lowing reagent

39. Consider the following ionization steps
M(g) — M*(g) +e~; AH = 100 eV
M(g) — M2*(g) + 2e~; AH = 250 eV

Select the correct statement(s) —

(A) (IE), of M(g) is 100 eV (B) (IE), of M*(g) is 150 eV
(C) (AE), of M(g) 1s 150 eV (D) (IE)2 of M(g) is 250 eV
frafefie smfteat v R 39

M(g) — M*(g) + e~; AH = 100 eV
M(g) — M%*(g) + 2e~; AH = 250 eV
e fagfefc (@fer) fadien v -

/ M(g) & (IE), % 100 eV /M*(g) 47 (IE), T 150 eV §
/M(g} 43 (IE), %1 150 eV » (D) Mi(g) 94 (IE), 2 250 eV
0. Which of the following concentration term(s) is (are) independent of

temperature ?
S5a T (@ @) 7P (8f) Sremmam so@ Féa @ 2

(A) Molarity (B) Normality
r@\M olality (I Mole fraction
N e e s b _—-_-__H__—-—_:”T _____
JENPAS (UG) Paper-1 17 % o
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BIOLOGY

Category-1 (Q. 41 to 56) o
i S —/
(Carry 1 mark each. Only one option is correct. Negative mar

. . - - -I?
Which of the following is necessary for biological nitrogen fixation :

41.
(B) Zinc

(A) Copper
(C) Manganese (D) Molybdenum

e ARdeE Tiwead e Pafifie AT ?
@A) st @ &=

(C) wyrwfAS /ﬂi\w%?rmm

42. The equation that represents exponential population growth is

at _ dN _ gt - N N ™ =at
(A) a-rN ® — = dt () T D)

@ RS GHTACTARRIE Aot s 3o I ©f 2

& _, aN _ an, _ -t
@ <=  ® T —V ket I

43. c¢DNA is copied from mRNA with the help of which of the following ?

(A). Restriction enzymes (B) Reverse transcriptase
(C) DNA polymerase (D) Topoisomerase

mRNA /@ cDNA faferfie @mite sy afsfa wae 2

A) GIGFE TSy faenf Grefee

(C) DNA fepreres . (D) EITATSRETNIES

44. Which of the following glucose transporters is insulin-dependent ? |
(A) GLUTII (B) GLUTIII (C) GLUTIV (D) GLUTI

e grerer-rerriee 7oy G 2w ke 2

@A) GLUTII  (B) GLUEI/@ GLUTIV (D) ‘GLUTI

JENPAS (UG) Paperﬂ I 18
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5, Who is the author of ‘Systema Naturae’ ?

(A) John Ray (B) Darwin (C) Linnaeus (D) Bentham
Gystema Naturae’ 33i09 (747 @ ?
() dJohn Ray (B) Darwin (@¥ Linnaeus (D) Bentham

46, Small, extrachromosomal, circula¥, self-replicating DNA molecules found in
bacteria are called —

(A) Nucleosome (B) Plasmids
(C) Golgi body (D) Phagosome

Faghe, IHBTFITITSING, 5PN, Feemater DNA Seafer a1 JRGHAR T
T IR ,

@A) fSfrewm | /699 PTG
(€) sterf 3 D) TN
41, Which of the following cbmponents of phloem is absent in monocot plants ?
(A) Companion cell (B) Phloem parenchyma
(C) Phloem fibre ' (D) Sieve tube
GFNSA SfeT Gre Fafafis @i oAl eefis a2
@A) RIE - GG =l
©) GFIw &8 D) S 7

48. Which statement is not true about the telomere ?
(A) Telomere protects the end of chromosome
(B) Loss of telomere is responsible for aging

(C) Telomere has unique set of genes
D) Telomefe has repetitive DNA sequences

g =rcé e SR B w7,

A) CrEimm GRS ST T T

(B) CrERRIER FOR FRC AT H
CEhE 2R SR IE

(D) Eremie DNA ARREETS S I

-"-"-—-_.
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49. Stilt root is found in which of the following plants ?

(A) Mangifera indica (B) Oryza sativa

(C) Ficus benghalensis (D) Pandanus tectorius
Fafeiis stmsem @mitts denfe cryve Ansar Iw ?

(A) Mangifera indica (B) Oryza sativa

(C) Ficus benghalensis / Pandanus tectorius

50. Itai-itai disease is caused due to ingestion of food, contaminated with
(A) Lead (B) Cadmium (C) Mercury (D) Nickel
— Tifere 4y et FTer HiR-T0R A1 =W

&) /ﬁ-msﬁm (C) M= D) et

51. Symplastic transport of nutrients takes place through

(A) cell wall (B) plasmodesmata
(C) transporters (D) cell membrane
oAfg-sriresa Prmgmite e o o o o an

A) @F b BATSTITGHI!
() Greetibr - (D) WA

52. Lichens are most sensitive to which of the following ?

(A) Radioactive pollution (B) Water pollution
(C) Heavy metal pollution (D) Air pollution
e mita afe ek e Aemee ?

(A) ToEEn Y (B) e

(C) Il 41y 7t / Y

JENPAS (UG) Paper-1 20
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g cell wall of Gram-positive bacteria consists mostly of
(A) Chitins
@) Cellulose and hemicellulose

(©) Peptidoglycan and teichojc acid
D) Lipopﬂl}'saccharides

o &S SR oy ety et a1 AT DG W
@) IR
@'/W‘Sﬁﬁmﬁmm

AN BRGIR 8 Rrvite sy
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54, Which one of the following animals has a dJaphragm between the thorax and
abdomen ?
(A) Whale (B) Pigeon
(C) Snake (D) Frog

AR I AGTT I 932 SHATADA W WA SR ?

/Hrf\GﬁI B

C) =™ (D) Ire

%, The pair of hormones required for a callus to differentiate into organs are

(A) auxin and cytokinin (B) ethylene and auxin
(C) auxin and abscisic acid (D) eytokinin and gibberelling

Wmﬁf@w@@aﬂnmwiﬁwmmm
|t e RGP ®) e o ol
©) e @ SETERR SIhTe JD) TRERIE 8 Rewmafe

F— e

e i .
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BIOLOGY

Category-2 (Q. 56 to 60)

(Carry 2 marks each. One or more options are correct. No negative mar]

56. Choose the correct statement(s) about histone proteins
(A) They are acidic in nature
(B) They help in DNA compaction
(C) They are positively charged

(D) They are made up of mostly aromatic amino acids

ROV canfber sracm e Gen(afn) Rfe 72
¢ W oy agfon

/@9- DNA® 97 HfafRe 206 7121 I
/@-R:rww

(D) 2 ARG SRS SREA! SRS w17 fiftfs

87. Identify the correct statements about lac operon
(A) Glucose or galactose may bind with the repressor and inactivate it

(B) Inthe absence of lactose, the repressor binds with the operator region

(C) The z-gene codes for permease

(D) TIac-operon will be switched on when lactose is more than glucose in the
medium '

M Tt Rve w1
(A) Jwre 3t stteTpiore e 3o w i g
T e wrprtfifere ftern A St 1E
©) 26 afimret wore T |
T4 NI LTS QETTe SIS QP &4 atyip-STofad fiem 50
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5, Which one of the following blood types can be infused into a recipient of A*
group ?
@ A" (B) AB*
© 0 D) 0

Wmmwﬂmya@mmmmmm?

At F

o (B) AB

/ ﬂ) 0-
9, Bt-cotton is :

5
(4) agenetically modifieq plant
(B) an insect resistant plant
(C) resistant to all pesticides

(D) abacterial gene expressing system

Bt =T |
/od' 93 Eesrosim MRafs s
B GG *fom et s
(€) s FoAr aiftoran
60. Green house effect is mainly caused by which of the following gases ?
(A) CH,, CO,and NO, (B) CFC
(©) S0, (D) CO

R T STPIERE I oG 89 IS qEE TR AT ?

k{) CH,, CO, 9% NO, /ﬁ CFC
@ so, ) co
—— r T S
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] ENGLISH
Category.y (Q. 61 to 80) .
(Carry 1 mark each. Only one Option is correct. Negative marks: —'4)

61. Select the sentence which is Erammatically wrong.
(A)  DMava 1s my elder sister,

ﬂ Ashok is two years younger to me.
(C) He is the eldest man of this village.
(D) Ravi is five years older than me.

62. Select the sentence which is Brammatically wrong.
(A) He succumbed by his injuries,

auemiiam, | testified to my friend’s honesty.
(C) These plants are indigenous to India.
(D) 1don’t know if it is raining. -

63. A sentence is broken in five parts. The parts P, Q, R and S are shuffled. Select
the correct option below to arrange these parts so as to form a complete and
most meaningful sentence.

(1) It is not always easy
(P) alone at home
(Q) their young children
(R) and go to work
(S) for mothers to leave

(A) PQRS (B) RQPS (C) SQRP /ﬂ SQPR

64. I.  Plane living and high thinking should be our motto.
II.  People living on hills are hardier than people living in plains.

LConsider the two words in bold italic in the above two sentences and select the
correct option from below :

(A) Only sentence I is correct.
=% Only sentence I1 is correct.
(C) Both sentences I and II are correct.
(D) Neither sentence I nor sentence II is correct.

e s . s, s, e — S — — S —— S — e —— —— —

H’
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i One shoulg ne

L=
N

ver adapt to unfair menng to gain anything
avs adapt to new working epvironment

~onsider the 1y ; ;5
Lo '€ two words in bold 1talic in the ghove two sentences @
correct OPUion from helow :

(A) Only se

1. We mugt alw

nd select the

Ntence | 1s correct.
(B) Only sentence I1 is correct.
N Poth sentences [ and 11 are correct.

(D) Neither sentence 1 nor sentence 11 is correct.

66. Choose the most appropriate option to fill in the blank to complete the

sentence most meaningfully.

Ken answered that he a bachelor with a satisfying career than
trapped 1N 8 meaningless marriage.

(A) must have been (B) had tobe -

i, would rather be (D) might have been

67. Choose the most appropriate option to fill in the blank to complete the
sentence most meaningfully.

I wish 1 to my research guide every week; it is 8o inconvenient.
@™ (4] didn't have to report (B) shouldn’t report
(C) mustn’t report (D) won't be reporting

65. Select the most appropriate pair of words to fill in the blanks in the same order
to make the sentence meaningfully complete.

Iamnot ______ tosell you my car unless yvou offer a more price.

(A) having, actual (B) very, correct

(C) sure, high f prepared, realistic

69. Select the most appropriate pair of words to fill in the blanks.in the same order
to make the sentence meaningfully complete.

Since we read every book, we only the famous ones.

cannot, select (B) must, buy (C) should, have (D) can, ignore
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Select the most appropriate

to make the g

70.

I]I‘L‘l]nﬁi
ven sentence most iy

Agnother will not desert her chilg
A)  for (B)

tion/word/group of words to fill in the blap)
eaningfully complete.

_all the world,
With (C) from (D) at

71.

: to meet any
eventuality,

(A) ready (B) stand up /{_’J}. stand by (D) stand out
72.

Choose the most appropriate filler to complete the given sentence correct ly and
most meaningfully.

I shall see him

(A) before I shall leave for USA.

(B)  before I have left for USA.
(C) afterIleave for USA.

/3} before I leave for USA,
Choose the option which can best

replace the group of words given in bold
italics

73.

We should guard against our green-eyed friends.

(A) Rich* (%) dJealous (C) Handsome (D) Enthusiastic

74. Choose the optioffl which can best re

place the group of words given in bold
italics

Atonement for one's sins.

(A) Salvation

(B) Repentance ) Apology

(D) Explanation

75. Select that word which needs to be removed from

the given sentence to make it
grammatically correct.

You should complain of if you are not happy with the service you receive.

of * B) if (C) with (D) had
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EXPresse 0 In active (passIVe) vojes goinct the alternative which bes
=5eg [he Sentence in DaRsive i . T Tl
0 passive (Activg) Voice
ne :
should keep one's promise.
B Oneis .
A One's promise should be kept by us (B) One's promise has to be kept.
(C) A promise should be keOIJilw A promise should be kept.
77.

A sentence is given in active (passive) voice, Select the alternative which best
expresses the sentence in passive (active) voice,

A lion may be helped even by a little mouse.

(A) A little mouse may even help a lion,
Even a little mouse may help a lion.

(C) A little mouse can even help a lion.

(D) Even a little mouse should help a lion.

78. A sentence is given in direct (indirect) speech. Select the alternative which
best expresses the sentence in indirect (direct) speech.

The Manager said, “Well, what can I do for you ”
(A) The Manager asked what he could d(:.t for him.

(B) The Manager wondered what he could do for him.
The Manager wanted to know what he could do for him.
(D) The Manager said that he couldn’t do anything for him. .
79. ldentify the erroneous part of the sentence,

(A) Did the co-pilot of ﬁ ‘the ill-fate plane

(C) that crashed come in as (D) a last-minute replacement ?

80. ldentify the erroneous part of the sentence.

(A) A good student (% is one which  (C) is ready for (D) hard work

g
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LOGICAL REASONING
Category.1 (. 81 to 100)
(Carry 1 mark each. Only one optioy, is correct.

_1
Negative marks: ‘)

: e the give
81. Select a figure from amongst the four alternatives. which complete Biven
figure.

[ —

(A) (B) EQ (D) m

82. The four different positions of a dice are given below :

Which number is on the face opposite 6 ?

_—-ﬂilv” B) 3 € 4 ()]

83. Two positions of a block are shown below :

[

[ 1 I )
LLi V™ (11 ¥
e |o oee |o

When six is at the bottom, what number will be at the top ?

A 1. ®) 3 © 4 /) 5

84. Choose the missing term out of the following alternatives :
a,dcf%hg?i

(4) ek B e © k.j (D) j.e

85. Choose the correct alternative from the given ones that will complete the

Series : I
SHG, RIF, QJE, PKD, ? !

(A) NMB (B) OLB (Cy OMC ) OLC !

|

— e e e s e “m—'w—_ ————— |
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B correct alternative : a7
ody : Ph}"ﬁiﬂlﬂﬁ}* :: Heart: ? i ".’
8l 3 ,-r'r""'!
(A) Haemﬂlnlogyy L‘.m'diuluﬁ}:' (C) Nephrology (D) Craniology "
87. Choose the word from the given alternatives that is similar to the given words
and hence belongs to the same group ?
Canada : Chile : Germany : ?
) Spain (B) Paris (C) New York (D) London
88. Choose the correct alternative :
“R98 0T 9
(A) 68 /; 65 (C) 63 (D) 61
89. Choose the set of numbers from the four alternative sets that is similar to the
given set :
(21, 51, 15) .
(A) (21, 40, 51) (B) (21, 41, 30) ’3) (21, 75, 61) (D) (21, 91, 35),
A5 Dr.::'t:ﬂ.?_;_l;
90. DWH is related to WDS in the same way as FUL is related to ) -;f'“ S
t'p
FO (B) UOF (C) FOU (D) FLV
-
. There is a relationship between first two terms and the same relationship
holds good between the next two terms. Find out the missing term. o
MK : 09 +JH : ?
121
64 81 ¢
) ) y; 200 100 AS
Y R Y
o Fa vy R
92. Choose the \:u.rord which is least like the other words in the group.
(A) Assassinate (B) Kill aff

(C) Murder i) Kidnap Ul

93. If ROAST is coded as PQYUR i : ) g N
coded in thit linguage ? in a certain language, then how will SLOPPY be

(A) MRNAQN

(B) NMRNQA  (C) RANNMQ Bb QNMRNA~
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94. In a certain code, ORDER is Written i sl and BOARD s wnitten o,

« x % + §. How is ABODE writtep, in that code ?

Htesh B Woexag oy gxsed (D) %rSx#

95. In a certain code ‘it be pee’ meapg 'roses are blue', ‘sik hee' means ‘red flowery,
and ‘pee mit hee’ means ‘flowers grg y,

How is 'red’ written in that code 2

(A) hee (B) pee (C) mit g— L

96. If in a certain code ‘CHARACTER' ig written as ‘241612376 and ‘CHILDREN
Ilﬁ “'ritte‘n as '2485957{]'. then hOw ‘ean IHIRA].{-—AL‘ be writtE‘n -Ln lhe same
code ? YRLIn1D

(A) 4816515 (B) 4861155 (C) 4816155 /D) 4861515 *

getables’,

97. Choose a figure from the four alternatives which would replace the question
mark (?)
\I/’ ® e 0 |
<: ? |
ik |
@ G
AT~ [=] o
Y L@ (B) e ©) >' 'D:u .
. <- ° (] >-

98. Choose the correct mirror image of the number 247596 E (mirror)

- Ll «A) 695742 (B) €oGVee /peems (D) ¢bVdeo
. . #
99. Looking into a mirror, the clock sho®s 9:30 as the time. The actual time is

2:3‘0 (B) 4:30 (C) 6:30 (D) 3:30

0. Trace out the alternative figure which contains the given figure as its parts.

£
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